
4.OA.4, 4.NBT.4, 4.NBT.5, 4.MD.3, SMP7

1  Find the area.

 Equation: 18 ∗
 
 27 = 486

 Answer:  486  square units

2  A tool bench is 35 inches long and 19 inches wide. 
How many square inches of the basement floor does it cover? 

 Equation: 35 ∗
 
 19 = 665

 Answer:  665  square inches

3   Find the area. 

20 in.

20
 in

.

40 in.

40 in.

100 in.

30
 in

. 30
 in.

 

  Equations:  

  Answer:   square inches

Practice
List all of the factors for the numbers below.

4  48 1, 2, 3, 4, 6, 8, 12, 16, 24, 48

5  62 1, 2, 31, 62

6  63 1, 3, 7, 9, 21, 63

7  55 1, 5, 11, 55

NAME  DATE TIME 

Home Link 4-11

Finding the Area  

SRB
104-107,
204-206

27

18

3,400

 Sample answer: 100 ∗ 30 = 3,000; 
20 ∗ 20 = 400; 3,000 + 400 = 3,400
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